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Dividing a decimal by
| a whole number

Dividing a Decimal by a Decimal

Dividing a Whole Number by a Decimal
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Exercise (2) : Evaluate the following : 5\
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Exercise (3):choose the correct answer :
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1)0.072 + 0.03 = G 2z
a) 24 b) 0.024 —-&
¢) 0.24 (d) 2.-15 12
2)5.6 + 8 = 12
a) 0.007 b) 0.07 -

3) 13.68 + 0.8 = 2/l
a) 1.71 }?

c) 0.171 d) 171 o
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Dividing decimals is similar to dividing whole numbers, except you have to handle the decimal point
before you start dividing. Here's how to divide decimals step by step:

Mowve the decimal point in the divisor and dividend.

Turn the divisor (the number you're dividing by) into a whole number by moving the decimal point
all the way to the right. At the same time, move the decimal point in the dividend (the number

you're dividing) the same number of places to the right.

gl Flace a decimal point in the quotient (the answer) directly above where the decimal point now
appears in the dividend.

Rl Divide as usual, being careful to line up the quotient properly so that the decimal point falls into
place.

Line up each digit in the quotient just over the last digit in the dividend used in that cycle.
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